BEER SR B:-298,2:-311, AREB#RF 5=>[G2

fmmm AT B S AN EX

RE REBIREBRGEEEEANEEETIRE--BEHR: S-02 (RREE . 2F->2F)

P015-02-12/8: 2F, B8k G2, {1&: P015-02 [B:-298,2:-311], B &: 760.11 cm B H: 45 cm BR: 75 cm M L:BAH
%

AT RRRE A

MR (BRK )= (760.11*45)/10000= 3.42 M2

#8 #8 L EMG(BSEE)-F | (760.11+[#41£]226*1+[ L $8E]-10+35.6+[ 4 4 E]55+35.6) 66.13
( ] | VR E#EE, *6)/100
HH#E]
#8 #8 TEMBEE)-F | (760.11+[HE 51741+ $87E]55+35.6+[ 4 $H £]55+35.6) 42.01
[ 1R [ R EHE, *4)/100
HH#E]
#8 #8 L EHIIBLEE (760.11+[#£ 412261 +[ 12§ FE]-10+35.6+[ 4 $# 7£]55+35.6) 0.00
( BB *0/100
B EHE GHE]
#8 LERRmME(E14E) | (760.11-190.03-190.03+[#£15]226*0)*0/100 0.00
#8 TSR (E (190.0+[ £ §# %]-10+35.6)0/100 0.00
)-8
#8 AR (E (190.0+[$# 7£]55+35.6)*0/100 0.00
H)-BR
#8 HOT MR TEE | (760.1138+[#412]174*1+[72 $#%E]-10+35.6[ 4 $# £]55+35.6) 0.00
[ k)-8 (R, *0/100
EHE, G#E]
#8 TREFRRME(E14E) | (760.11-190.03-190.03+[#£15]174*0)*0/100 0.00
#8 TR 22 Sh ik 0 (5B 1 (190.0+[$# 7E]-10+35.6)*0/100 0.00
( )-8
#8 T A SN (B 1 (190.0+[$# 7E](55+35.6))*0/100 0.00
J H)-BR
#3 - bt (B4 E]((45+75)2-8*4+12.21*4)[X](Int(760.11/4/10)+1) 51.37
*1/100
#3 - 4 (B85 ]((45+75)2-8*4+12.21*4)"[X]Int(760.11/2/10)*1/100 97.60
#3 - HiE (B4 E]((45+75)2-8*4+12.21*4)[X]Int(760.11/4/10)+1) 51.37
*1/100

# [ LEPE X ~(—RB)= [[EE45+[MAIZEH]15*2= 75.00 cm

AFRTEHRR(—HRIR) = (75.00%Int(760.1138/150)/100= 3.75 M
iR ARSEZIHETES RAHEECEMRENTEANZIOcMAFEEE ARRH s EELERREESTERA
 HEREFEAN 4AGRFENERER)+BRRE-(EMN)120FENER-ARREBTTELE)
BARGTE: (EI:BEE)

HERR(RAIE)-1h B — A% BR= 760.11*2%(75-15)/10000= 9.12 M2

RIE IR, fEE SRR R
W15A: (53.77+75*2-15*2)*15/10000=0.26 M2

LA E/hGH0.26 M2

BRI R S SR T AR AR BR AR AT

g3: 30%(65-15)/10000= 0.15 M2
g3: 30*(65-15)/10000= 0.15 M2
G1: 45*(75-15)/10000= 0.27 M2
G1:45%(75-15)/10000= 0.27 M2
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Bl E/NET:0.84 M2
AR (R R EE H4E)= 45.0*75.0/10000= 0.34 M2
B AR/ FT(REIR)-(RIBR 3T $%):9.12-0.84=8.28 M2
HERR D ET(RIRAE):3.42-[#248-F 32]0.00-[BR#E-2 32]0.26= 3.16 M2
EAR/NFT (RS REE4E):0.34 M2
RCiTE:
RC(3#: L #2)= 45*75*760.11/1000000= 2.565 M3
-------------- E g = )y —
WA EER:
#3=200.343 M (200.343 M*0.560/1000= 0.1122 T)
#5=3.750 M (3.750 M*1.560/1000= 0.0059 T)
#8=108.145 M (108.145 M*3.980/1000= 0.4304 T)
AT/ NE =05485T
ERDEFTRA+RE+HET) = 11.78 M2
RS LN =2.565 M3
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